Working

(1 mark)My independent variable is...

(1 mark) My dependent variable is ...

(3 marks)I have to control these because...

(1 mark) Variables that may be difficult to
control are....

(5 marks)Variables I will have to control are...

towards
grade C

(3 marks) My results table...

Working
towards
grade C

Working

(1 mark) I predict that ... grade B

(2 marks) I think this because ...

towards

My hypothesis is...

(1 mark)The
graph I will draw
would be a
(continuous /
categoric)...

(1 mark)
because...

Working
towards
grade B

(4 marks) I will make my experiment
reliable by....

(5 marks) I will make my experiment
valid by....

extension



